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QUESTION 1

What is a quick way to determine if the required TCP ports for RecoverPoint are blocked? 

A. Run the Ports Diagnostics test by connecting to an RPA as the boxmgmt user 

B. Browse to the site management address and open Unisphere for RecoverPoint 

C. Run the Port Diagnostics test by connecting to an RPA as the admin user 

D. Run the Port Diagnostics test by connecting to an RPA as the security-admin user 

Correct Answer: A 

 

QUESTION 2

An environment consists of a two-RPA, single cluster. There are 74 Consistency Groups (CGs) configured and
replicating. The administrator asks you what impact an RPA failure would have. 

What should you tell them? 

A. All CGs will run on a single RPA. 

B. The first 64 CGs will run on the single RPA, the others will be disabled. 

C. The first 64 CGs will run on the single RPA, the others will be paused. 

D. The 64 CGs with the highest priority will run on the single RPA. 

Correct Answer: A 

 

QUESTION 3

What user action causes a full sweep to occur? 

A. Enable a disabled Consistency Group 

B. Enable a disabled volume 

C. Enable a disabled splitter 

D. Attach a volume to a splitter 

Correct Answer: A 

 

QUESTION 4

When designing an EMC RecoverPoint environment, what must be taken into account when a site consists of multiple
VMAX splitters or multiple RecoverPoint clusters? 
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A. A total of 16 gatekeepers are required for each VMAX splitter/RecoverPoint cluster combination. 

B. All gatekeepers must be connected to each VMAX splitter/RecoverPoint cluster combination with fixed paths. 

C. A total of eight gatekeepers are required for each VMAX splitter/RecoverPoint cluster combination. 

D. When the VMAX splitter/RecoverPoint cluster is connected through Fibre Channel only two gatekeepers must be
used. 

Correct Answer: A 

 

QUESTION 5

Which connectivity protocols are used to interconnect RecoverPoint clusters? 

A. FC and IP 

B. FC and iSCSI 

C. FC and FCoE 

D. FCoE and IP 

Correct Answer: A 
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